EARAROBEEIERT — 2 N— IBISH —F

201

7TH2R17H (&) 24BEEHESH

IR S C44 C4 45%—M B R
[A&£] 1%&:170,000 @ ~ 2% :34,000™ ~ 33#%&:17,000 M . 43%&:10,000 53 :7,000
mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
5 # o4 | EEH 1:31.1 2-2-2-1 [39.5| — | 1 | 484 |BOKRK (BEE)
TAEG—F— x> 56.0 =) (-3 | DIERAE
¥y ¥/FEF BiA-—Yv3IFR BEEAS
. 4t 5 | A L3 1:32.3 6-6-6-5 |39.8| — 2 426 | BEOE (BHE)
A=A/ O— 54.0 ®) (1) |BEFO"
L:7RIfYL—> BAMO-—T7Y ke
2Z LN H 5 ?E‘_;HAMU 1:33.1 7-7-7-71 | 39.7| — 4 454 igii (ZHE)
. 4
QEZIELLY b BT —So T F— @ @8 i e
o = o NEERR— : -8-8- — SiEEZ (BHE)
FAFA—T kT 5 s 1.(313).3 8-8-8-8 | 39.4 3 (5:3135 e
:Corinthian B:5>7+—1 v b AL
o KHEE :33. -3-3- . — SiEtRe (&R
517|7|YyakeTF i 54.0 1(13/32>4 MR R s :016) @B
L:TvA4T7>byh— B:SE7O-X e ]
6lglg| 77V rU—22 i 0 || s el 55-5-4 |41.3| — | 6 | 459 i;&gzg; (BEE)
. 11/2 o :
R:xF1=Tr—R B:S5TVvU-UFR (-3) gt e
7 3| IT17F—F42 # o8 ggﬂgﬂ’éﬁ 1:33.7 4-3-3-5 |41.6| — | 5 | 502 gzﬁrg— (BEE)
. A= FOE=
R:TPLERT 4y sTAh BT/ VUL e O | o
glsls| 1=/ k=K 5 giﬂg?ﬂﬁ 1:35.0 1-1-1-2 [43.8| — 7 | 435 ij@%f— (BHE)
5 6 aardl
LT RIA Y L= BTroIL—Ib © 1) M7 7 — L4
® I —F—@EBIERL
13=zr= 5,6,7,3,8,2,1,4
20—7— 5,6,(3,7),8,2,1,4
33—+— |5,6,(3,7).,8,2,1,4
43—+ — 6,5,7,8,(2,3),1,4
[ RN
B OB 6 100M4 714K 2-6 100H B E 2-6 160 &R 1-2-6 560M
8 B 6 100M 1-6 230M B H 6-2 210M JEH 6-2-1 840M
2 1104 1-2 410M
1 1609

ABICOVWTRDTEEERROODE. TR LIV,




